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I. Vocabulary: 20%

To wach guestion, choose gne answer, (A), (B), (), or {1) that
best completes the sentence. &

FExample: I you are happy. ;
(A} think (B} sink
{C) thank (D) seek
Anawer! ()
1. -Arsenic is a ____ drug.
{A) toxic (B} typieal
(C} tropical {D} topical
2. The guestion of immortality is traditienally as a guestion
about the soul or the spirit of man.
(A] formalized {B) formulated
(C}) formed {0 fornicated
3. More and more teachera to teach basic, general, or

introductory courses, which, however, are what the
undergraduates need most.

(A} decline (B} incline
{C) intend (D) declaim
4, The immigrant to living in his new country.
[A) adapted {B) adopted
(€} adijured (D) addicted
5. The jury is the cazse.
{A) deliberating : {B) elaburating
() illustrating (1} demonstrating
6. They for how Lo soclve the problem. )
{A) diaputed {B) dispelled &
{C) disrupted (D) distributed #
i
7. Many tourists are attracted to Mountain A-Li by the autumn|,
(A) foliage {B) frugallity L 5
(C) fatigue {p} fertilization R
t ]
8. Mo one can be sure if tha war is or neot. N
{A) emasculate {B) imminent
(C) iterale : (1] encumber
4. Bomething aboul the statesman commands our inetant response and
{A) confiscation (B} deference
{0} disproportion (C) interference
10. The old man’s illness was by the sudden change of the

temperature early this merning.
(A} disillusioned {B) aggravated



LEESEY I T LY T Ny . 2

# WM oR i ,'ijljl & i oy M A H.J;’I'F

| L2

(C) disintegrated (D) accelesrated
II. English structure and Writing Ability. 30%

Part A: Each sentence below has four words or phrases underlined.
The four underlined parts of the sentence are marked {A),
{B), (C), and (D). VYou are to ldentify the one underlined
word or phrase that should be corrected or rewritten.

Example: Many water is needed for people living in the dry area.
A B C D
Answer; (M)

t. In order to prevent acanmemic recession on o worldwide scale
A B
naticns must work tegether,
D

2% Scigntista never give up any gpportunity to experimont new
mathoda in their lgngﬂ;gzg. "’ ©

3. Dur professors are alll;nguqh_strigh Lo fnfnn us to go upward in
uﬁr gtudies. ’ : '

4. Your ﬂegisiuns can be dopg either today or towmorrow, but no
dater than tomorrow. A ? £

5. I&E; wWe ought to seek éverythinq L%ﬂt is really good for ua ia

[

sEelf-evident true.
D

6. All what I want are those things I need. =

A B C D o

7. If we look forward to the turn of the century, the prospects ars|i.

.} B - d

bright still. W

< D ¥

8. Should we abolish the death penalty for all capital offenses, g
A

replacing it with life imprisonment, permit ne release from L

B C 1

prison on parole? .

D ——

Part B: The folleowing sentences are incomplete onea. Feour words or
phrases, marked {(A), (B), (C), and (D), are given banaath
2ach sentence. Choose tLhe gos word oF phrase that best
campletes the sentence.

Example: I cama Lo your birthday.
(A) take {B) stay
{C}) celehrate (D) maving e
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8. Newly snacted antipellution laws have presented scientists with

challenges which - .

fA) are baing met as technological advances permit
{B) technologically are being mel by advances

(€] advance aa technology permits overcoming it

{D} are permitted by technoleqgical advances to be avercome

10. Xenon has a number of applicablions, _ wmay be mentioned its
use in flash lamps for high-gpeed photography.
(A) amang which
{B) whirh
(C] and which
(D} each of which

11. It is considered that the moon contains all the elements found
on earth, including .

{A) those reguired to generate nuclear eanargy.

(B} Lhey that are necessary for the gensrating of nuclear enardgy

{C) elements for generating of nuclear enargy

{n} those are required for the generation of nuclear energy
13. , peocple and objects are presented in a flat, often

angular, abstract manner in Jacob Lawrence’s paintings.
{A] Always able to recodnize

(B} The ability to recognize always
{C) While always recognizable
(D) Always van be recognized

13. to steel, chromium increases the metal's hardness.
(A} stick (B) Hext
(C) Besildes ) (D) Added

14. Mat until the late 198075
the Chine=zsa mainland.

the ban of her people’s visiting

(A} that Taiwan {B) did Taiwan remove
(C) and Talwan remaved {D} when Taiwan removed
15%. The arcountant sald that she was attracted _ by the figures
on the paper as hy the neat scoript of them.
{A) much so not {BE) so much
(€] not so much {0} much not 50

III. Readinyg Comprehension. 3J0%

Read the following three passages carefully, and then choose
the best answer to each guestion.

1

i Watching a baby between six and nine months old will help you
observe the hasic concepts of geometry being learned. Once the
baby has mastered the idea that space is three di@ﬂnsiunal, it
reaches wut and begins grasping varieusg kinds of objects. It is
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then, from perhaps nine to fifteen months, that the concepts of
sets and numbers are formed. 6o far, so good. But now an ominous
development takes place. The nerve fibers in the brain inaulate
themselves in such a way that the baby begins Lv hear sounds vary
precisely. Scon it picks up language, and it ie then brought inte
direct communication with adulta. From this polnt on, it is
usually downhill all the way for mathematics, because the child now
becomes exposed to all the nonsense worda and beliefs of the
eommunity into which it has been so unfortunate as to have been
porn. Nature, having done very well by the child te this point,
having permitted it the luxury of thinking lor itself for eighteen
monthe, now abandons it te the arbitrary conventions and beliefs of
society, Bubt at least the child knowa anmething of geometry and
numbers, and it will always retain some memory or the early halcyon
days, no matter what viciesitudes it may suffer later on. The main
reaervelr of mathematical talent in any society is thua possessed

by children who are about two years old, children who have just
learned to speak fluently. '

1. What does the passange mainly focus on?
{(A) The impact of language on mathematics
{B) Children's ability to learn languages
(C) How basic concepts of physics are learned
(D) Math=~learning strategies for bahies

2. Based on the passage, which of the follewing activities would
teach a baby about geomelry?
{A) Piecking up a wooden block
{B) Recognirzing the number 2
() Uttering a nonsensa word
{D) Leoking at distant ebjects

3, Acvcordlng to the author, at what age does a child probably begin
to learn about sets and numbers?
{A) Six months
{E) Hine months
() Pifteen months
{0} Eighteen months

4. The use of the word "ominoua" shows that the author believes the
child's
{AY linguistic future is threatanad
(B) nerves will deberiorate
fC) hearing will suffer
f0) mathematical ability will decline

r—

%. The passage will reach which of the following conclusiona?
(A} The language concapts used in carly education interfere with
mathematical reasoning.
(B} It im hepeless tn try to teach children mathematics after
the age of two.
{C) Language teaching should incarporate some mathematical
formulas.
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(b} Preschool education should stress society's beliefa and
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comventions.

6. The authorfs attitude toward early childheod education can best
be described as somewhat
{(A) indifferent (B} compromising
(C) indulgent (D} cynical

{2)

Criminals were conce consldered sinners who chose to offend
againat the laws of God and man. They were severely punished for
their crimes. Modern vriminologists regard ssciety itself as in
large part responsible for the crimes committed against it.
Poverty, puour living conditiena, and inadequate education are all
causes of crime. crime i= fundamentally the result of sociely’s
failure to provide a decent life for all the people, It ie
especially common in times when valuss are changing, as after a
war, or in countries where people with different backgrounda and
valuea are thrown together, as in the United Statea. Crimas,
genarally speaking, are fewer in countries where thaere i= A settled
way ot life and traditional respect for law.

7. This passage dealsa with
{h] ocriminaila
{B) soclety
(C) the lawa of God and man
(D) the reasons for crime

B. The main idea of this passage is that
(A) eriminale are sinners
(B) crime is. common when values are changing
(C} crime is the result af poverty
(D) sooicty is largely responsible for crime

9. According to the passage, which iz not a cvause of crime?
[A) Blums

{B} poverty
(T} wickedness
(D) ethnic mixing

10. To prevent crime, the author implies that scciety should
(A} provide stiffer penalties for criminals
(B} provide a decent way of life fur everyone
(C) seqgregate the poor
(D} give brocader powers to the police

J

(3)

Criticism of research lays a significant foundation for
future investigative work, but when® students begin their own
projects, they are likely to find that the standards of valldity in
field work are considerably more rigorous than the standards for
maat library research. When students are faced with the concrete|
problem of proof by field demonstration, they usually discover that|
many of the "important relationships" they wmay have eriticized
other researchers for falling to demonatrate are wvery elusive
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indeed. They will find, if they submit an outline or guestionnaire

‘entirely objective to them appear to

to their oclassmates for criticism, that other students make
comments aimilar to some they themselves may have made in
disrmussing previously published research. Feor example, student
researchers are likely to begin with a general question but find
thenselves forced to narrow its foous. They may learn that
yuastions whose meanings =seem perfectly pbvious to them are not
clearly understood by others, ar that gquestlons which ssemad
he highly blased to someona
else. They usually f[ind that the formalation of good research
questiona ¥s a much more subtle and frustrating task than is
generally believed by those who have not actually attempted it.

11. What does the author think about trying te find weaknesses in
other pecple’s research?
{A) It should only be attemptad hy experienced researchers.
(R) Tt may vcause researchers to avoid publishing good work.
{C) It ia currently being done to excess.
(D) It ean be useful in planning future research.

12, According to the passage, what is one major criticiam students

often make of published ressarch?

{A) The research has not heen written in an interesting way.

{B) The research has been done in unimportant fields.

{C} The researchers did not adegquately establish the
relationships involved. :

(D) The researchers failed to provide an apprepriate summary.

11. Acecording to the paseage, how do students in class wliten react

to another atudent’s research?

{A] They react the way they do to any other rasearch.

{B} They are especially critical of the gquality of the
rasearch.

(C) They offer unusually good suggestions [uvr improving the
work.

(D) They show a lot of sympathy for the atudent researcher.

14. According te the passage, student researchers may have to

change their research projects becauee

(A} their budgets are too high

(B} their vrliginal guestiona are too broad

fC) thelr teachers do not give adeqguate advicve

(0} their time is very limited

15, What does the author conclude ahout preparing sultable
questions for a research project?
{A) 1t is more difficult than the student researcher may

realize.
(B} The researcher should get help from vbLher people.
(C) The yuestions should ke brief aa that they will ke
understood.

(7) It 1s important to follow formulas closely.

IV. Compoaition.

20%
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| 1. what is the Marxism after Marx? Compare and contrast with the Marxism of Marx. 25%

2. The ongoing historical process of the emergence of post-cammunism gives particular
salience to two critical questions:

1) Will the transition from Marxist-Leninist dictatorships gradually lead to pluralist
democracy or to some form of nationalistic authoritarianism?

2) What will be viewed as the political and intellectual legacy of the twentieth
century's communism? '

Please discuss and rejoin it. 25%
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